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H3l.4.11 1 [EHFERE (CHIRE GRS 5616] 50 2, 808} 0 0 0 0 0 0 0 2, 808 0 0
H31.4.2| 2 |BEETHE 7,524 50 3,762 0 0 o 0 0 0 0 3,762 0 0
Bobn - FERERE - HERRE (U on 1 -
H31.4.2| 3 BB (384 4,474 50 2,237 0 0 0 2,237 0 0 0 0 0 0
BB A — I EEE R (3, 19240
H31.4.5] 4 S 84 106F) 379,956 o5[ 360, gsal 0 0 o| 360,958 0 0 0 0 0 0
Hil.4.51 5 |RIEWEES EEulS% H31/4RA~R1/98) 30,4321 50 15, 215| 0 15,216 0 o 0 0 0 of . 0 ]
H31.4.5| & [FEHERRBAE(ZvT—N) 8.640( 50 4, 3zo| 0 0 0 0 0 0 0 0 4,320 0
H31L.4.5) 7 |HIE4%(82M x 1004) W) 4, wnl 0 0 0 0 0 0 0 0 4,100 0
H3.49 ¢ |EBHFERIYRZ BE) 12, 960 5oi 6, 4so| 0 0 0 0 0 0 0 6. 480 0 0
a0l 9 [FAXEEGAD 6,019 sol 3 oosl 0 0 0 0 0 0 0 0 3,000 0
H31.4.10| 10 |ESFEEE GHS) 2,615 sol 1,307 0 0 0 0 0 0 0 0 1,307 ol
31411 11 |BEHRESL AR 13, 604 5u| 6, 802 0 0 0 0 0 0 0 6, 802 0 ol
it 416 1o |FEREEH (REZv—F) (I1/18 g.400] 100] 8400 0 0 0 0 0 ol 8400 0 0 ul
~/38 %) :
H31.4.18] 13 |REEERE (O 2v-297° ) @A 1,404 50' 102 0 0 0 0 0 0 0 702 0 nl
at" -~ RSP & (2018/12/10~
Hald.22l 14 oo o 703/07) 54, 030 50I 27,015 0 0 0 0 0 0 0 0 27,015 oI
H31.4.24| 15 ;g;ﬁﬁﬁa HEEDRIE (1373 x 1, 000#+H 14, 040 sul 7, 020] 0 0 T 0 0 0 0 o 0 7,020 oI
H31.4.24] 16 |$HBARESEE (ERFE) GRS 3, 667 1ou| 3, 667 0 0 o 0 0 0 3, 667 0 0 ul
H31.4.25] 17 |EHEHEMLEARS) 100,000] 50 50, 000 0 0 0 .0 0 0 o| 50,000 0 0
H31.4.25| 18 [SEEFEEIREH 4BS) 24,0000 50f 12,000 0 0 0 0 0 0 0 12,000 0 0
H3L4.26] 19 (HEEPTEERBAEASZAAD 100,000] 50 50, ooo| 0 0 0 0 0 0 0 0 0 50, 000
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H3l.4.26| 207 |MEEEE(EAIM A 6, 511 50 3, 285 0 0 0 0 0 0 0 0 3,255 ol
H3t.4.26) 21 |HRAEEEER (SswmbE) A 4,400) 100 4, 400] 0 0 0 0 0 0 4,400 0 0 u|
H3t.4.26) 22 |HRAGEEEN (A8 (A 1,887 100 1,887 0 0 0 0 o 0 1,887 0 0 ol
H31.4.26) 23 |SEEFRAEEEIEYE (X #IL200M x o¥) 1,000| 50 500] 0 0 0 0 0 0 0 500 0 of
H31.4.28] 24 |gRAEESE¥ (WARHMD) (4A4H) 4,037 100 4,037 0 0 0 0 ] 0 4,037 0 0 of
H31.4.191 256 (B THAFICRAGHEEAS) 5.044| 50 2,522 2,522 ] 0 0 ) 0 0 0 0 of
0] 0 ] 0 0 0 0 0 0 0 0
4A% o| 808,460 586, 404 2,522 16,216 o| 363,195 0 0 22,391 83,054 50, 026 50. 000
L1 o 808, 460 586, 404 2,622 15,216 o| 363,195 0 0 27,391 83, 054 50, 026 50, 000
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RLEZ| 1 [UIFEEA (821 x 1004%) 8,200 50 4,100 0 0 0 0 0 0 of 4,100 oI
RGBT 2 [RIEATERE (T3iR%) (A 5616 50| 2,808 0 0 0 0 0 0 2,808 0 ol
RLET| 8 [HVUREBASR) 10,044] 50 5,022 5,022 0 0 o 0 -0 0 0 uI
F-bn' -5 fERER - MRS (20w 45 -4 j
RILET 4 IDRERIEE) (485 5114] 50 2,557 0 0 2,657 0 0 0 0 0 0
RILET| 5 |EEER (HEHE) 4R 4,037 100 4,037 0 0 0 0 0 4,037 0 0 )|
R1.5. 7| 6 [AH¥< H31. 2/2~H31. 4/15) 2,872 50 1, 436} ] 0 ol 0 0 0 1,436 0 0
RLE.O| 7 |IEFEBR (a7 48) - 5AL) 1,404 5o| 702 0 0 0 0 0 0 702 0 oi
RI.LE.13] 8 |MEEE{EFH tFAX) 48 %) 7,466 50I - 3, ml 0 0 0 0 0 0 ol 3,718 ol
RILE.13| 9 [|ERESERIHUAS) 2,657 sol 1, 323! 0 0 0 0 0 0 0 1,328 ol
RLE.18{ 10 | .REHERBEH H31/4B ~R2/3A4) 3,700]  100] 3,700 0 0 0 0 0 3,700 0 0 ol
RLETL 11 |BERHEEGAM) 13,169 5ol 6, 5é4| of 0 0 0 0 0 6,584 0 ol
BHESHRBERY 7 P (2019/4H
Rt.5.22) 12 [To00 /68 ﬁ)“ 16, 200 ml_ 16, zool 0 0 0 0 of 0 0 16, 200 0
RI.5.25] 13 |GHAMEY (BEHE GHD 3,667 mol 3,667 0 0 o| 0 o| 3667 0 0 0
RI.5.27( 14 |MEHBEERAKARD 6, 580 50| 3, 290] 0 ol 0 0 ) 0 0 3,290 0
R1.5.25| 16 [4fAAEEEEN (HB&EM) GBS 4,037 1oo| 4,027 0 0 0 0 0 4,037 0 0 nl
RI.5.271 16 |iRBARKERM (RIEMHE) GAD 4,400) 100] 4,400 0 0 0 0 0 4,400 0 0 of
RLE.2T| 17 [HMRRERH (MFEHM) GHD) 4,037 100 4,037 0 0 0 0 0 4,037 0 0 0
R1.5.27| 18 [4FBREEEY (QEAFA) GH4) 1,887 wol 1,887 0 d 0 0 0 1,887 0 0 ol'
R1.5.20| 19 igiﬁﬁm HETR (117 x4, 0004+ 47,520 5o| 2, isol 0 0 0 0 0 P ol 23 760 ol
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*5 (%) mamak | wer | skw | cesew |FPREEE) pupoe | guman | ssEr | osem AdESRE
RIL5.3Y — |&REUYAE 484 586, 404 ol 0 0 ) 0 0 0 0 0 0 of
RI.E.3I| 20 |HEHEFAEHEHGAED) 100, 000 sol 50, oml 0 0 0 0 0 0 0 50, 000 0 ] |
RILE31| 21 |SHAEMRERS (G4 00,000 - 50| 50, ooul 0 0 0 0 0 0 0 0 of 50,000
RIL6.81| 22 |REREHE®GAD 24,000 s0] 12 oool 0 0 0 i of 0 0 12, 600 o| 0
RLESI 23 IEBATANMR (T3mE GAD 5.616)  50] 2.&09' 0 0 0 0 0 0 0 2.808 o 0
RI..24| 24 |BFRTICESIIGERGHED 3,420 50 1 ml 1,710 0 0 0 0 0 0 0 0 0
) 0 0 0 0 0 0 0 0 0 oI
58 586,404| 385,643 213, 803| 6,732 0 0 2,557 0 0 25, 765 76,338 52,411 50, oool
L1 586, 404 1,194,103 800, 207 8, 254 15,216 o| 365 752 0 0 48,156f  159,392| 102,437 100, ouol




GRS 4)

B =
= E‘I‘ *E ﬁ
[EBREXH]
(SMTECHD) [x #iE]
(Hifi : H)
i EHE ERAE (KUAOHR)
#AR |=BR® REEHBHE - ik AR | e g”g‘%
ol (%) BRFER | WER wr | menew (SARARE gaeaw | wnmax | sEER | wmR | AsR
ri6.a| 1 |17 WETH G/ UKL H31.4/25~ 17.366| so]l  s.683 0 0 0 0 0 0 0 o| 868 0
R2. 4/24) : |
R1.6.5| 2 %ﬁﬁ*ﬁﬁﬂfﬁﬂ]ﬂlﬁ(%ﬂ x 500+4 % 15,120 sol 2,560 0 0 0 0 0 0 0 o]  7.560 ol
RL6.6| 3 |EmmEEE O av-E /) GA9) 1,404 5o| 702 0 0 0 0 0 0 0 702 0 ol
RI.6.10| 4 |BEFHEAH (FAX) GA#) 6,019 5u| 3, coof 0 0 0 0 0 0 0 0 3,009 ol
Ri610] 5 |[EEERBGAS 2,594] 50 1,207 0 0 0 0 0 ) 0 0 1,297 o
RLE3| 6 [HUUEWEAS 5627 50 2.813I 2,813 0 0 o 0 0 0 0 0 0
RI.LET| 7 |BFHEEICHKLIZEAEGAS) 3,580 50 1,790' 1,790 0 0 0 0 0 0 0 0 0
R.6.28 — [2ERXUA®E 5B 213, 803 ol 0 0 0 0 0 0 0 0 0 0
R1.6.28] — [|=R&UAE 68% 21,251 ol 0 0 0 0 0 0 0 0 0 0
RLZ.I8| — [&iREYAS 6H%HEMS 4,608 ol 0 0 0 0 0 0 0 0 0 0
ol 0 0 0 ) ) 0 0 0 0 0
o 0 0 0 ) 0 0 0 0 0 o]
0 0 0 0 0 0 0 0 0 0 o]
q 0 ) 0 0 0 0 0 0 0 ol
0 0 ) 0 0 0 0 0 0 0 ol
0 0 ) 0 0 ) 0 0 0 0 o]
i 0 ) 0 0 0 0 0 0 0 0
A 230,657 51,710 5,854 4603 0 0 0 0 0 0 02| 20,549 of
P 826, 061/ 1,245,813 826, 061 13,857 15,216 o 365 752 0 ol  48,156| 160,004] 122,988] 100, 000




